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= IEH R FXR17 B (HE467K) | 78 (B#6K) [ 7 B (EHEK) | 78 (BEE5K) | 78 (BE465K) | 78 (BEH#EK)
HOo1 |—f3ME =100 0 0 0 0 0 0
202 |XBE RHEYLT/ak THRH TR TR R R TR
203 |[ARIYLRUZFDILESY =0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
204 |KBRUZFDILSY =<0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
205 |ELURUZDIEESY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |[$ARUZDIEESY <0.01 <0.001 <0.001 <0.001 0.004 <0.001 0.002
207 |[EERUZDILEY <0.01 0.001 <0.001 0.002 <0.001 <0.001 <0.001
Ho8 |AXlroLitsty <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
HO0O |misEsAEZREE <0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 [S7oieA4A v RUEIES T <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |EEBERERUEHERERES =10 0.18 1.0 0.12 0.68 1.2 0.69
H12 |[DvERUVZOIEESY =08 <0.08 <0.08 0.11 <0.08 <0.08 0.22
H13 |[HRYERUVZDILLEY <10 0.01 0.01 0.01 0.01 0.01 <0.01
14 |miEiRzE =0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 [1-4-SAxH> <0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
%16 (37‘;1_(2__1/2?'/:','7:';; I"; lf'f/u <0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H17 |[Crooxrsay <0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |[FrSHooTFLY =0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
19 |rysOOTFLY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H20 |IRvEY =<0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |ExE =06 0.08 0.06 0.07 <0.06 <0.06 <0.06
Hoo2 |yOnEE: <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
23 |poamiLL =0.06 0.002 <0.001 0.004 <0.001 <0.001 <0.001
Ho4 |CHOOEEE <0.03 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
Hos |[CTnErOOAMY =<0.1 0.002 0.002 0.003 <0.001 0.001 <0.001
Ho6 |BExE: <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H27 |farynorss =0.1 0.007 0.003 0.011 <0.001 0.001 <0.001
28 |FyHOOFEE <0.03 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
29 (JoEP/OOray =0.03 0.003 0.001 0.004 <0.001 <0.001 <0.001
30 |[FaEHILL =0.09 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
31 |[HRILLTFILTER <0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
H32 |BEHMRUZFDIESY =10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
EH33 [FILES=Z=HALRUZFDILEY =02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
234 |BRBRUZDILESY =03 <0.01 <0.01 <0.01 0.01 <0.01 <0.01
35 [SARUZFDIESY <10 <0.01 <0.01 <0.01 <0.01 <0.01 0.02
#36 |FRIVLRUZFDIEEY =200 6.9 6.4 73 9.9 5.6 6.4
H37 |2 AU RUZFDIESY <0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
#38 |&EithI14> =200 9 10 9 7 7 8
E39 (WP L, TR LEREE) =300 32 33 33 18 25 24
A0 |ZEHEELEY =500 61 80 61 54 56 70
a1 |feAA  REEHH =02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Ha2 |[CxARIY <0.00001|  <0.000001| <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
a3 |2-AFILAYRILZA—IL =<0.00001|  <0.000001| <0.000001|  <0.000001  <0.000001|  <0.000001|  <0.000001
Haa A REEHEH <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
45 |Dz/—)LEE =<0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 0.5 <0.3 0.4 <0.3 <0.3 <0.3
Ha7 |[pHiE 58 ~ 8.6 7.4 7.3 7.6 7.2 71 6.5
248 [k RETHMINER200T| B3 200 | B0 | B52R0 T | B8R0 T | 282007
#49 |RR RETTONER£2207| B3RO0 7| B52R0 T | BE3220 T | B8R0 | 252207
H50 |@E =5 <1 <1 <1 <1 <1 <1
H51 |8 =2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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TERAHKE | BRESKE | BERSKE [c5/4amsks| B)IEKE | ZIU5EKES

5 EH wem 28| TH GB#7K) | 78 (BE67K) | 78 (BH67K) | 78 (E67K) | 78 (BH87K) | 7 A (6K
Ho1 |—#eAE <100 0 0 0 0 0 0
®*02 |KBE BmEYLT It TR T T T T T
203 [HRIYLRUZDIEEY <0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
204 |KERUZDIEESY <0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
205 [bLVRUZOIEESY <001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |SARUZDIEEY <0.01 <0.001 0.002 <0.001 <0.001 0.001 <0.001
207 [E=ZRUZOIEEY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
208 |AMYOLIEEY <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
HOO |FrEceEm= <0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 |[S7UALMAAY RUEIES T <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |BRtemsRUERREES <10 0.55 0.41 051 0.41 0.28 0.64
12 |[DvERUZDIEEY <08 <0.08 0.24 0.11 0.19 0.44 <0.08
H13 |[RYERUZDIEEY <10 <0.01 <0.01 <0.01 <0.01 0.19 <0.01
H14 |misleps <0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 |1-4-SAxH> <0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 :37‘;1_(2_'1/217'/:',7':';; I";Iﬁu <0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
217 [Crooxre <0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FrSHOO0TFLY <0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
H19 |ryHOOTFLY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
20 [Ruty <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |5=#& <06 <0.06 <0.06 0.07 0.08 0.07 0.08
Hoo [HOOEE: <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
23 |~#OOk)LL <0.06 0.007 0.002 0.027 <0.001 <0.001 0.012
Hoa |CHOOEE: <0.03 0.006 <0.003 0.023 <0.003 <0.003 0.010
Ho5 |SJOEsOOA4Y <0.1 0.002 0.002 <0.001 0.001 0.003 0.002
Hop |E%fg <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho7 |#ry/OAg> <0.1 0.014 0.005 0.033 0.001 0.005 0.020
Ho8 |FyoOOEE <0.03 0.006 <0.003 0.026 <0.003 <0.003 0.008
#2909 |JoESH/OOAEY <003 0.005 0.001 0.006 <0.001 0.001 0.006
H30 [FOoEHRLL <0.09 <0.001 <0.001 <0.001 <0.001 0.001 <0.001
31 |HRJLLTILTER <0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
H32 |BEURUZOILEESY <10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
33 |[FILI=YLRUZOIEESY <02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |[BRUZOILESY <03 <0.01 0.04 <0.01 <0.01 0.03 <0.01
H35 [SARUZDIEESY <10 <0.01 0.04 <0.01 0.01 0.02 <0.01
H36 |FRYLRVZDILESY <200 4.4 6.8 46 7.9 13 5.4
H37 | AV RUZDIESY <0.05 <0.001 <0.001 <0.001 <0.001 0.006 <0.001
X38 |&itmaA> <200 5 8 5 9 14 6
H39 WYL, RTRLY LEFEE) =300 6 13 5 31 41 18
A0 |ZRHEEZY =500 31 48 28 76 85 49
Ha1 |(faqA4> BEEHESE <0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Ha2 |[UrAzzy <0.00001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
HA3 [2-AFJLAURILFA—IL <0.00001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
Haa |FEAA2 BEEHESE <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
245 |[J1/—)L5F <0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 0.3 <0.3 0.8 <0.3 <0.3 05
£47 |pHIE 58 ~ 8.6 7.0 6.7 7.0 6.8 6.3 7.3
a8 |k RETHMINER200T| B3 200 | B8R0 | B0 7T | B8R0 T | 282007
H49 |1RK BEETHINRE420 | R0 T | E582207T | RE420T | RE220 T | BEERHT
250 |@E <5 <1 <1 1 <1 <1 <1
H251 |BE <2 <0.1 <0.1 <0.1 <0.1 0.1 <0.1
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5iE SiE i AR HAR HAR
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5 HE wap 277 B (#467K) | 78 (Bt87K) [ 7 A (Bt#8K) | 8 B (#87K) |8 B (##47K) |8 A (1t#87K)
Ho1 |—fmmE =100 0 0 0 0 0 0
®*02 |KBE BmEYLT It TR T T T T T
203 [HRIYLRUZDIEEY <0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
204 |KERUZDIEESY <0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
205 [bLVRUZOIEESY <001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |SARUZDIEEY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
207 [E=ZRUZOIEEY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
208 |AMYOLIEEY <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
HOO |FrEceEm= <0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 |[S7UALMAAY RUEIES T <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |BRtemsRUERREES <10 0.33 0.56 0.48 0.72 0.33 0.24
H12 |[JvERUZDOIEEY <038 <0.08 <0.08 <0.08 0.10 <0.08 <0.08
H13 |[RYERUZDIEEY <10 <0.01 <0.01 0.03 0.01 <0.01 <0.01
H14 |misleps <0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 |1-4-SAxH> <0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 lf;‘;;ﬁ’ff',‘;;; I";f;” <0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
217 [Crooxre <0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FrSHOO0TFLY <0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
H19 |ryHOOTFLY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
20 |RytEy <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |5=#& <06 0.06 0.07 <0.06 0.08 0.09 <0.06
Hoo [HOOEE: <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
23 |~#OOk)LL <0.06 0.002 0013 0.003 <0.001 <0.001 0.001
Hoa |CHOOEE: <0.03 <0.003 0.008 <0.003 <0.003 <0.003 <0.003
Ho5 |SJOEsOOA4Y <0.1 0.002 0.003 0.002 0.001 0.002 0.003
Hop |E%fg <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho7 |#ry/OAg> <0.1 0.006 0.023 0.007 0.001 0.004 0.007
Ho8 |FyoOOEE <0.03 <0.003 0.007 <0.003 <0.003 <0.003 <0.003
#2909 |JoESH/OOAEY <003 0.002 0.007 0.002 <0.001 <0.001 0.002
H30 [FOoEHRLL <0.09 <0.001 <0.001 <0.001 <0.001 0.002 0.001
31 |HRJLLTILTER <0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
H32 |BEURUZOILEESY <10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
33 |[FILI=YLRUZOIEESY <02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |[BRUZOILESY <03 0.03 <0.01 <0.01 <0.01 <0.01 <0.01
H35 [SARUZDIEESY <10 <0.01 <0.01 <0.01 0.01 0.03 0.01
H36 |FRYLRVZDILESY <200 5.6 4.7 8.8 6.6 5.4 5.1
H37 | AV RUZDIESY <0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
®38 [tEiLHaA4> =200 6 6 7 7 7 6
H39 WYL, RTRLY LEFEE) =300 24 30 25 34 20 21
A0 |ZEHEELEY =500 45 47 51 66 49 52
Ha1 |(faqA4> BEEHESE <02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Ha2 |[UrAzzy <0.00001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
HA3 [2-AFJLAURILFA—IL <0.00001]  <0.000001|  <0.000001|  <0.000001]  <0.000001]  <0.000001]  <0.000001
Haa |FEAA2 BEEHESE <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
245 |[J1/—)L5F <0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 <0.3 0.3 <0.3 <0.3 <0.3 <0.3
£47 |pHIE 58 ~ 8.6 6.7 7.6 6.8 6.5 6.7 6.9
a8 |k RETHMINER200T| B3 200 | B8R0 | B0 7T | B8R0 T | 282007
H49 |1RK BEETHINRE420 | R0 T | E582207T | RE420T | RE220 T | BEERHT
#50 |@RE <5 <1 <1 <1 <1 <1 <1
H251 |BE <2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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HR HAR HAR R B R
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2 HE wen 278 B (#t#67K) | 8 B (t#47K) |8 A (1t#47K) [8 B (#t#87K) |8 B (t#d7K) |8 A (1t#47K)
HEO01 |—fME <100 0 0 0 0 0 0
202 |KIBHE BHEFLF /I EST ERCT ERT ERCT ERCT ERCTE
H03 |ARSYHYLRUFDIEESY =0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
Ho4 |KEBERUFDIELEY =0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
Ho5 |[HLUBRUVFDIEEY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |[$ARUZDIEESY <0.01 0.003 <0.001 0.001 <0.001 <0.001 <0.001
207 |[EZRUZDOIEESY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 0.002
Ho8 |AXlroLitsty <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Hoo |HAEMEER =0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 [S7oieA4A v RUEIES T =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |WEEEERUERNMRERS <10 0.42 0.42 0.21 0.48 0.36 0.50
K12 |[2vERUVZDILEY =038 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08
H13 [RYERUZDIESY =10 0.01 0.02 0.07 <0.01 0.01 <0.01
H14 |(migiLiRE =0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 [1-4-CAFH> =0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 :37‘;1/_(2_'1/2175',';;; I"; I/&’U <004 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H17 [rooxr4ay =0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FkS/OOTFLY =0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
19 |MJHAOIFLY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H20 |[RvEY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |1axE =0.6 <0.06 <0.06 0.29 0.23 0.07 <0.06
Hoo |vonEeE <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Ho3 |[H#oak)LL =0.06 <0.001 <0.001 0.002 0.013 <0.001 0.015
Hoa [CHOOEEE =0.03 <0.003 <0.003 <0.003 0.009 <0.003 0.005
Hos [CJoEsoOr4ay =0.1 0.002 0.001 0.004 0.002 <0.001 0.003
Hoe |REEE =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho7 |#ry/norgy =0.1 0.002 0.001 0.010 0.022 <0.001 0.027
Hog |NJHYOOEFEE =0.03 <0.003 <0.003 <0.003 0.008 <0.003 0.015
29 |FoEP/OOAZY =0.03 <0.001 <0.001 0.002 0.007 <0.001 0.009
H30 |[FoEHILL <0.09 <0.001 <0.001 0.002 <0.001 <0.001 <0.001
31 |[RILLTILTER =0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
232 |BEBOARUZFDIEESY =10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
E33 |7II=TYHLRUVEDIEESY =0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |#%RUZOIESY <03 0.01 <0.01 <0.01 <0.01 <0.01 <0.01
235 [$ARUVZDILEY <10 0.04 <0.01 0.02 <0.01 <0.01 <0.01
H36 |[FRUYLRUZDIESY <200 46 6.0 14 4.9 6.8 55
H37 |2 AU RUZFDIESY <0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
#38 |14y <200 5 5 27 6 5 5
E39 (ALY L, TR LEFEE) =300 26 29 41 16 19 16
A0 |ZRHEEZY =500 57 68 110 54 58 48
a1 |feAA  REEHH =02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Hao [xARIY =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Ha3 [2-AFILA4VRILRA—IL =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Haa A REEHEH <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
Ha5 |(Jx/—ILEE =0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 <0.3 <0.3 <0.3 0.5 <0.3 0.6
£47 |pHIE 58 ~ 8.6 7.0 7.0 6.8 7.1 6.8 7.2
#48 |k ERTTNES2R0T| B8R0 7| BE2R0T | E5ER0T | REE2ROT|BE¥ER0T
Ha9 |RK REETHMINER2R0T|ES200T| B0 | REER0T | BEER0T | 25007
H50 (@ =5 <1 <1 <1 <1 <1 <1
H51 [FE =2 <01 <0.1 <0.1 <0.1 <01 <01
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AR HAR HAR HAR HAR HAR
B BAE AN ¥ B | == o =] 3 =] 3 =] 3 =] 3 3 =]
BAFKE | R—FKIEG | DMIFKSE | L35KE | EEFKE | FRFKS

5 15H A RXRAI8 B (Ht#A7K) (8 A (ft#47K) |8 B (ft#47K) |8 B (##47K) |8 B (##47K) |8 B (##57K)
o1 |—fAE <100 0 0 0 0 0 0
®*02 |KBE BmEYLT It TR T T T T T
203 |ARIHLEUZDIEEHY <0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
204 |KERUZDIEESY <0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
205 |[ELVRUZDIEEY <001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |SARUZDIEEY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
207 |EZRUZDILEEY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
208 |AMYOLIEEY <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
HOO |FrEceEm= <0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 [L7 e AAY RO T <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |BRtemsRUERREES <10 0.34 1.9 0.08 0.41 0.20 0.25
H12 |[JvERUZDOIEEY <08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08
H13 |[RYERUZDIEEY <10 0.01 0.01 <0.01 <0.01 <0.01 <0.01
H14 |migtEs <0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 |1-4-SAxH> <0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 :;‘;1_(2_"1/2?5,';;: I";f/” <0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
217 [Crooxre <0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FrSHOO0TFLY <0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
H19 |ryHOOTFLY <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
20 [Ruty <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |5=#& <06 0.14 0.10 0.33 0.09 0.09 0.07
Hoo [HOOEE: <0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
23 |~#OOk)LL <0.06 0.005 0.006 0.039 0017 0.025 0.012
Hoa |CHOOEE: <0.03 0.004 <0.003 <0.003 0.012 0.017 0.024
Ho5 |[UTnEsOonAr4s <0.1 0.004 0.005 <0.001 0.002 0.001 0.001
Hop |E%fg <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H27 |@ryOA%S <0.1 0013 0.018 0.046 0.027 0.033 0018
Hog |ryoOOEE <0.03 <0.003 <0.003 0.039 0.020 0.030 0.025
#2909 |JoESH/OOAEY <003 0.004 0.006 0.007 0.008 0.007 0.005
H30 [FOoEHRLL <0.09 <0.001 0.001 <0.001 <0.001 <0.001 <0.001
H31 |[RILLTILTER <0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
H32 |BEURUZOILEESY <10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
33 |[FILI=YLRUZOIEESY <02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |[BRUZOILESY <03 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
H35 [SARUZDIEESY <10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
H36 |FRYLRVZDILESY <200 58 5.3 5.2 3.9 49 43
H37 v AV RUZOIEEY <0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
®38 [tEiLHaA4> =200 8 6 7 5 6 5
E39 (ALY L, TR LEFEE) =300 13 39 7 7 13 8
A0 |ZEHEELEY =500 50 88 36 26 32 36
Ha1 |(faqA4> BEEHESE <02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Ha2 |[S1AZRI <0.00001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
HA3 [2-AFJLAURILFA—IL <0.00001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001|  <0.000001
Haa |FEAA2 BEEHESE <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
245 |[J1/—)L5F <0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 <0.3 0.4 1.0 0.5 0.7 0.4
£47 |pHIE 58 ~ 8.6 6.7 6.9 7.4 7.1 7.2 75
a8 |k RETHMINER200T| B3 200 | B8R0 | B0 7T | B8R0 T | 282007
H49 |1RK BEETHINRE420 | R0 T | E582207T | RE420T | RE220 T | BEERHT
250 |@E <5 <1 <1 2 <1 <1 <1
H51 |BE <2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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THSEE KEXEFHARERR(51HE)

R AR PR BN GBS PR
ZF-EE N | P . S
KEF%KIS |BEAT 2K | TR %KD | BERBKIS | RESRKS | K#hILEKS
] Y= xap A8 B (#E447K) [ 8 B (#t487K) |8 B (#487K) |8 B (#487K) |8 B (#t#87K) |8 B (#t#87K)
o1 |—fEHEE <100 0 0 0 0 0 0
202 |KBE BEYLT /b iR R R R AR R
H03 |ARSYHYLRUFDIEESY =0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
Ho4 |KEBERUFDIELEY =0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
Ho5 |[HLUBRUVFDIEEY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |ARUZDILEYW =0.01 0.001 <0.001 0.003 <0.001 <0.001 <0.001
207 |[EZRUZDOIEESY =<0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
o8 |KffivoLits =0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Hoo |HAEMEER =<0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 [L7oiemA4A Y RUEILS Ty <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |WEBERERUEEMRERS =10 0.44 0.46 0.52 0.15 0.24 0.53
K12 |[2vERUVZDILEY =08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08
H13 |[HRYERUVZDILLEY =10 0.01 <0.01 0.01 <0.01 <0.01 <0.01
H14 |@migieR=E =0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 [1-4-CAFH> =<0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 :37‘;1/_(2_'1/2175',';;; I"; I/&’U =0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H17 [rooxr4ay =<0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FkS/OOTFLY =0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
19 |MJHAOIFLY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
o0 (Rt =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |EEEE <06 <0.06 <0.06 0.07 <0.06 0.07 0.15
Hoo |/OnErE: =0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Ho3 |[H#oak)LL =0.06 <0.001 0.012 <0.001 0.002 0.022 0.017
Hoa [CHOOEEE =0.03 <0.003 0.011 <0.003 <0.003 0.009 0.005
Hos |[ConEroor4ay <0.1 0.001 0.001 0.001 0.003 0.001 0.005
Hoe |REEE =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho7 |#ry/norgy =0.1 0.001 0.018 0.001 0.008 0.030 0.032
Hog |NJHYOOEFEE =<0.03 <0.003 0.012 <0.003 <0.003 0.013 0.005
29 |JoECH/OOASY <0.03 <0.001 0.005 <0.001 0.003 0.007 0.010
H30 [FoEHRILLA =<0.09 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
31 |[RILLTILTER =0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
232 |BERRVZDIEESY =1.0 <0.01 <0.01 0.01 0.01 0.01 <0.01
H33 |FIIZYHLRUZFDILEY =02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |#RUZOIEESY <0.3 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
235 [$ARUVZDILEY =10 0.01 <0.01 0.07 0.04 0.03 <0.01
H36 |FRYUYSLRUZDIEESY =200 4.6 3.6 6.0 4.1 4.6 5.6
237 |RUAVRUEFDIEESY =0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
®38 [tEiLHaA4> =200 5 5 6 5 6 8
H39 WYL, RTRLY LEFEE) =300 20 12 21 37 7 51
A0 |ZEHEELEY =500 51 32 59 63 37 84
Ha1 |faqA> REEHEHE =0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Hao [xARIY =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Ha3 [2-AFILA4VRILRA—IL =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Haa A REEHH <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
Ha5 |(Jx/—ILEE =0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 <0.3 0.6 <0.3 0.5 0.6 0.3
£47 |pHIE 58 ~ 8.6 6.7 7.2 6.5 6.4 7.4 7.9
248 |mk AETTONE3£200 7| B3%R0T|BE52R0 T | REER20T | B3RO T | 25280
H49 |EK ERTHIMNEE£20T | B840 T | BE2R20 T | BEL22OT | BE42HT | BEER0T
H50 (@ <5 <1 <1 <1 <1 <1 <1
H51 |HE =2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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THSEE KEXEFHARERR(51HE)

LB =B =B =8 =25 i h8
a2 SHESKS | LSS | EEKS | BABKE | BEEKE | FEEKE
&L ‘ { 1 i 1 =1 { ¢

= 15 § wen %A 8 B (HHA7K) [ 7 B (87K | 7 B (BEH87K) [ 7 B (BEE7K) | 7 B (HE87K) | 7 B (88 K)
o1 |—fEHEE <100 0 0 0 0 0 0
502 |KEBE BREYLT/ar FSTL FSTL FSTLY FST FST FST T
H03 |ARSYHYLRUFDIEESY =<0.003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
Ho4 |KEBERUFDIELEY =0.0005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
Ho5 |[HLUBRUVFDIEEY =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
206 |ARUZDILEYW =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
207 |[EZRUZDOIEESY =<0.01 <0.001 <0.001 0.002 0.001 0.001 <0.001
o8 |KffivoLits =0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Hoo |HAEMEER <0.04 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
H10 [L7oiemA4A Y RUEILS Ty <0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H11 |WEBERERUEEMRERS =10 0.16 0.31 0.40 0.33 0.42 0.49
K12 |[2vERUVZDILEY =08 <0.08 <0.08 0.09 0.25 0.14 <0.08
H13 |[HRYERUVZDILLEY =10 <0.01 <0.01 <0.01 <0.01 <0.01 0.01
H14 |@migieR=E =<0.002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
H15 [1-4-CAFH> =<0.05 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
#16 :37‘;1/_(2_'1/2175',';;; I"; I/&’U =0.04 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
H17 [rooxr4ay =<0.02 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18 |FkS/OOTFLY =0.01 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
19 |MJHAOIFLY =<0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
o0 (Rt =0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho1 |EEEE <06 <0.06 0.09 0.09 0.17 0.10 <0.06
Hoo |/OnErE: =0.02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
Ho3 |[H#oak)LL =0.06 0.042 0.007 <0.001 0.019 0.010 <0.001
Hoa [CHOOEEE =<0.03 0.024 0.005 <0.003 0.006 0.004 <0.003
Hos5 ([JpoEsonoray <01 <0.001 0.002 <0.001 0.001 0.002 <0.001
Hoe |REEE =<0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
Ho7 |#ry/norgy =01 0.049 0.013 <0.001 0.027 0.018 <0.001
Hog |NJHYOOEFEE =<0.03 0.021 0.004 <0.003 0.015 0.006 <0.003
29 |JoEDH/O0O0r2Y <0.03 0.007 0.004 <0.001 0.007 0.006 <0.001
H30 [FoEHRILLA =<0.09 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
31 |[RILLTILTER =0.08 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
232 |BEBOARUZFDIEESY =10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
H33 |FIIZYHLRUZFDILEY =02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
H34 |#RUZOIEESY <0.3 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
235 [$ARUVZDILEY <10 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
H36 |FRYUYSLRUZDIEESY =200 5.2 4.8 6.2 5.4 6 6.4
237 |RUAVRUEFDIEESY =0.05 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
®38 [tEiLHaA4> =200 6 6 5 5 5 7
H39 WYL, RTRLY LEFEE) =300 12 6 24 12 14 30
A0 |ZEHEELEY =500 31 35 73 45 55 57
Ha1 |faqA> REEHEHE =0.2 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
Hao [xARIY =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Ha3 [2-AFILA4VRILRA—IL =0.00001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
Haa A REEHH <0.02 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
Ha5 |(Jx/—ILEE =<0.005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
Ha6 |HMmEERRETOCHS) =3 1.0 0.4 <0.3 0.4 0.3 <0.3
£47 |pHIE 58 ~ 8.6 7.0 6.9 7.6 74 7.4 7.2
#as [mk EETH N EE4220 T | RE84220 T |RE220 ¢ | BE220T | BEE420HT | B8R0
249 (BF EETHONEs420 7| B5280 T | RE220 ¢ | BE2207 | B5520T | B8R0 T
H50 (@ <5 <1 <1 <1 <1 <1 <1
H51 |HE =2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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